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WA 29.1 IR 27.4 1,836 1,188 1,080 0] A
IZACA 13.3 £ % 12.2 1,620 1512 1,296 10 A LL
ZIES5 9.2 IR 8.9 — 383 — 1 A LL
[E<ELY 28.2 R 19.2 1,080 918 540 15[ A 6
HTE 2.6 IR 0.5 2,160 1,728 1,080 4 A M
ZED: 7.7 IR 3.8 1,836 1,404 1,188 4 A M
FrRY 120.0 ERE 50.3 486 324 324 10 A 8
IE5NAZES 3.2 BIR 1.3 3,240 3,024 2,376 4f A M
hE 11.1 IR 6.7 1,296 1,188 1,080 3l A L
_hE 2.2 ik B 1.6 2,592 972 972 3 vay M
_hE 2 [ 0.3 1,296 1,080 972 3 L
125 3.4 =0 1.2 2,430 1,890 1,620 5] vay
+)L)— 0.9 2 [ 0.6 3,240 — 2592 0] A L
FRINGHR 0.7 N 0.3 — 154 — 0.1 vay M
LARR 28.3 E & 114 972 648 486 10 12
FoTHA 1.6 BRE 0.8 1,728 1,512 1,296 4f A L
=p5Y 24.4 BRE 15.8 1,836 1,620 1,404 5/ A L
=p5Y ElG 6.6 1,998 1,728 1,674 5] A M
ANESSES) 11.7 BRE 3.2 — 1,836 — 0] A 4
HY 6.7 B X 5.8 2,160 — 1,944 5] A 32
Y =I5 0.5 2,160 1,836 1,836 5] A L
k< 18.6 BRE 6.7 1,404 1,080 1,080 4f A M
d B K 6.7 1,296 — 864 4 vay 24
I=kTh 10.2 BRE 8.7 119 76 70 02 A M
E—<y 8.3 BERE 5.9 — 2,160 — 0] A LM
ES5HACL 3.2 K B 1.0 1,814 1,555 1,426 5/ A 3L
x93 1.1 BRE 1.1 140 108 108 0.1 A M
[ZA5Y 4.7 BRE 4.7 1,944 1,080 972 3l A L
SPVAITFA 15 BRE 15 1,728 1,728 1,296 2l A
MrAL& 3.1 E X 2.6 2,592 2430 2,052 5 L
[ES AT 421 £ % 39.2 — 1,458 - 10] vay 3L
IEhi s E 15 - 1,458 — 10 va9 LL
IEhiLs E 5 - 1,512 — 0] A 3L
IEhiLs E 5 - 1,728 — 0] A LL
[ECTRYNS BRE 2.9 — 1,296 - 10 L
[ECTRYNS BRE — 1,080 - 0] A L
[ECTRYNS BRE — 1,080 - 0] A LL
=FhE 151.7 = B 148.8 3,456 - 3,240 20 va9 L
5oELD 1.4 BRE 1.4 5,400 4860 4,320 0] A M
ELLV=T 1.7 BRE 0.1 — 108 - 0.1 L
ELLV=IT =I5 1.0 97 86 65 0.1 A M
ZDEET 5.0 =l 1.4 59 30 27 0.1 A
LHL 3.5 2 [ 3.0 97 76 70 0.2
ESES T 579.2
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(t) ATT=®) (M) (M) (M) (ke)

BMAMAET 1.6
INDRHINA 1.6
LEY 2.0 TA)H 2.0 7,344 7,344 1,620 17 115
INLUYVT 3.6 TA)H 3.6 3,888 3,758 3,240 17 4
L7y 0.2 T A)H 5,184 — 4,320 15 48
YATE 4.4
eI 1.7 5 1.7 5,076 4428 4212 10] vay
AL 2.2 5 & 2.2 7,020 7,020 6,912 10[ 7hva 40
T 0.5 5 & 0.5 - 4,320 — 10
U 0.2 £ & 0.2 - 2,765 - 8 PED
3EE 0.6
3% 0.6 N 0.4 — 540 — 05 vay L
FTHHE 0.3
ERGS 0.3 & B 0.2 540 518 486 04| vay L
B35 0.1 e 0.1 — — — PR LL
fipYp) iz 648 — 432 02| MMa L
fipYp) iz 616 — 540 02| MMa M
58 2.3 2 [ 0.7 — 4860 — 5/ A 3L
SESE 0.3
To9z7F 0.1 B2 [ 0.1 - — — PR LL
FT5917F 2 [ 454 410 410 0.25] 7hva L
To9z7F B2 [ - - - PR M
=5 0.1 2 0.1 918 — 864 03] B 4L
[ f2 [ - 972 — 03] B 4L
W52 1.6 BRE 1.5 — 432 — 04 A 3L
W52 BRE - 432 — 04] A 44
W52 N 0.1 — 302 — 0.25] vay 3L
AOVEF 6.0
7—ILA 0.4 5% [ - 740 — 1] A 6
AHZ 0.5 N 0.4 2,700 — 2,160 gl vay 4L
FDAOY 5.1 BERE 24 — 2916 — gl ¢ L
JLHE 9.7
ERAYA 6.0 B X 5.7 3,888 2,808 2,808 A LL
ERAY BE X - 4320 - 15| van LL
CEFETLD 38 BRS 24 - 3,456 - 10] A 4
INFF 19.2 EUEY 19.1 4514 3,186 2,808 15
INAFTIL 34 EYEY 33 - 2,700 - 10 9
FoL4TILY 3.1 ey B 3.1 - 2,484 - 4 30
BEE 59.9




